
Y.SEENIVASAN. M.Sc, B.Ed (PG TEACHER MATHS) EM NEW - 2024-2025 

10 TH MATHS ACTIVITY FULL 
SOLUTION 2024-2025 

CHAPTER – 1 (RELATIONS AND FUNCTIONS) 

1.  

Ans: 𝐴𝐴 = {1,2,3,4}  𝐵𝐵 = {1,2} 

𝐴𝐴 × 𝐵𝐵 = {(1,1), (1,2), (2,1), (2,2), (3,1), (3,2), 

(4,1), (4,2)} .  

𝐵𝐵 × 𝐴𝐴 = {(1,1), (1,2), (1,3), (1,4), (2,1), (2,2), 
(2,3), (2,4)} 

 

2.  

Ans: 

𝐵𝐵 = {9,8,7,6} 

  

 

3.  

Ans: (i) It is a Function, but not One - one function. 

(ii) It is an One - one function. (iii) It is an One - one 

function. (iv) It is not at all a function. (v) It is not at 

all a function. (vi) It is a Function, but not One - one. 

4.  

Ans: ℎ(2) = 𝑓𝑓 ∘ 𝑔𝑔(2) ⇒ 𝑓𝑓(4) = 4 ⇒ 𝒉𝒉(𝟐𝟐) = 𝟒𝟒 

ℎ(3) = 𝑓𝑓 ∘ 𝑔𝑔(3) ⇒ 𝑓𝑓(3) = 1 ⇒ 𝒉𝒉(𝟑𝟑) = 𝟏𝟏 

ℎ(4) = 𝑓𝑓 ∘ 𝑔𝑔(4) ⇒ 𝑓𝑓(1) = 2 ⇒ 𝒉𝒉(𝟒𝟒) = 𝟐𝟐 

CHAPTER – 2 (NUMBERS AND SEQUENCES) 

1.  

Ans:  

 

4 X 4 square fill 

with rectangle 

HCF = 𝟒𝟒.  

 

 

 

4 X 4 square fill 

with rectangle 

HCF = 𝟒𝟒.  

 

 

 

 

1 X 1 

square fill 

with 

rectangle 

HCF = 𝟏𝟏  
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2.  

Ans: Repeat subtraction method: 

(i) 90 − 15 = 75, 75 − 15 = 60, 60 − 15 =  45,  

45 − 15 = 30, 30 − 15 = 15, 15 − 15 = 0,𝑯𝑯𝑯𝑯𝑯𝑯 = 𝟏𝟏𝟏𝟏 

(ii) 80 − 25 = 55, 55 − 25 = 30, 30 − 25 = 5,  

25 − 5 = 15, 15 − 5 = 10, 10 − 5 = 5, 5 − 5 = 0,  

𝑯𝑯𝑯𝑯𝑯𝑯 = 𝟏𝟏𝟏𝟏 

(iii) 40 − 16 = 24,24 − 16 = 8,16 − 8 = 8, 

8 − 8 = 0,𝑯𝑯𝑯𝑯𝑯𝑯 = 𝟖𝟖. 

(iv) 23 − 12 = 11, 12 − 11 = 1, 1 − 1 = 0,𝑯𝑯𝑯𝑯𝑯𝑯 = 𝟏𝟏.   

(v) 93 − 13 = 80, 80 − 13 = 67,67 − 13 = 43,43 −

13 = 43,43 − 13 = 30,30 − 13 = 17,17 − 13 =

4,13 − 4 = 9,9 − 4 = 5,5 − 4 = 1,1 − 1 = 0,  

𝑯𝑯𝑯𝑯𝑯𝑯 = 𝟏𝟏. 

3.  

Ans:  
5 3,15,000 

5 63,000 

5 12,600 

5 2520 

3 504 

3 168 

2 56 

2 28 

2 14 

 7 

 

4.  

Ans: A.P : 1 box = −𝟐𝟐,−𝟓𝟓,−𝟖𝟖,−𝟏𝟏𝟏𝟏,−𝟏𝟏𝟏𝟏. 

A.P : 2 box = −𝟑𝟑,𝟐𝟐,𝟕𝟕,𝟏𝟏𝟏𝟏,𝟏𝟏𝟏𝟏.  

A.P : 3 box = 𝟏𝟏,𝟑𝟑.𝟓𝟓,𝟔𝟔,𝟖𝟖.𝟓𝟓,𝟏𝟏𝟏𝟏. 

A.P : 4 box = 𝟖𝟖,𝟏𝟏𝟏𝟏,𝟐𝟐𝟐𝟐,𝟐𝟐𝟐𝟐,𝟑𝟑𝟑𝟑. 

A.P : 5 box = 𝟒𝟒𝟒𝟒,𝟓𝟓𝟓𝟓,𝟕𝟕𝟕𝟕,𝟖𝟖𝟖𝟖,𝟏𝟏𝟏𝟏𝟏𝟏. 

5.  

Ans:  

Square Area (cm2) Perimeter (cm) 

1 100 40 

2 50 20√2 

3 25 20 

4 12.5 10√2 

5 6.25 10 

6.  

Ans: Sum of 𝑛𝑛 natural Number = 𝑛𝑛(𝑛𝑛+1)
2

. 

1 + 2 + 3 + 4 + 5 =
5(5 + 1)

2
 

=
5 × 6

2
 

= 15 

315000 = 54 × 32 × 23 × 71, 

 𝒑𝒑 = 𝟑𝟑,𝒒𝒒 = 𝟏𝟏, 𝒓𝒓 = 𝟓𝟓, 𝒔𝒔 = 𝟐𝟐 
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CHAPTER – 3 (ALGEBRA) 

1.  

Ans:       (i) Length= 𝑥𝑥 + 1
𝑥𝑥

= 𝒙𝒙𝟐𝟐+𝟏𝟏
𝒙𝒙

 . 

                 Breadth= 𝑥𝑥2 − 1
𝑥𝑥2

= 𝒙𝒙𝟒𝟒−𝟏𝟏
𝒙𝒙𝟐𝟐

. 

         𝑳𝑳:𝑩𝑩 = 𝑳𝑳
𝑩𝑩

= 𝑥𝑥2+1
𝑥𝑥

 × 𝑥𝑥2

𝑥𝑥4−1
= 𝑥𝑥

𝑥𝑥2−1
= 𝒙𝒙:𝒙𝒙𝟐𝟐 − 𝟏𝟏. 

             (ii)  Perimeter = 13𝑥𝑥 + 37𝑥𝑥 + 40𝑥𝑥 = 𝟗𝟗𝟗𝟗𝟗𝟗 

              Area = 1
2

× 40𝑥𝑥 × 12𝑥𝑥 = 𝟐𝟐𝟐𝟐𝟐𝟐𝒙𝒙𝟐𝟐. 

𝑷𝑷:𝑨𝑨 = 𝟗𝟗𝟗𝟗𝟗𝟗:𝟐𝟐𝟐𝟐𝟐𝟐𝒙𝒙𝟐𝟐 = 𝟑𝟑:𝟖𝟖𝟖𝟖 

2.  

Ans: Area of Garden = 𝑘𝑘(2𝑘𝑘 + 6) = 𝟐𝟐𝒌𝒌𝟐𝟐 + 𝟔𝟔𝟔𝟔. 

Area of levelled Portion = 𝟑𝟑𝟑𝟑. 

Unlevelled Garden Area = (2𝑘𝑘2 + 6𝑘𝑘 − 3𝑘𝑘) 

             = 2𝑘𝑘2 + 3𝑘𝑘 

      = 𝒌𝒌(𝟐𝟐𝟐𝟐 + 𝟑𝟑). 

3.  

Ans: (i) 4𝑥𝑥2 + 12𝑥𝑥 + 9 = 0, (2𝑥𝑥 + 3)2, 𝑥𝑥 = −3
2

,−3
2
 

It has solution. 

(ii) 𝑥𝑥2 + 6𝑥𝑥 + 9 = 0, (𝑥𝑥 + 3)2, 𝑥𝑥 = −3,−3. 

 

It has solution. 

(iii) 𝑥𝑥2 − 𝑥𝑥 − 20 = 0, (𝑥𝑥 − 5)(𝑥𝑥 + 4), 𝑥𝑥 = 5,−4. 

It has solution. 

(iv) 2𝑥𝑥2 − 5𝑥𝑥 − 12 = 0, (2𝑥𝑥 + 3)(𝑥𝑥 − 4), 𝑥𝑥 = 4,−3
2
. 

It has solution. 

(v) 𝑥𝑥2 − 1 = 0, (𝑥𝑥 − 1)(𝑥𝑥 + 1), 𝑥𝑥 = 1,−1. 

It has solution. 

(vi) 𝑥𝑥2 + 16 = 0, 𝑥𝑥 = −16, x value not real.  

It has no solution. 

4.  

Ans:  
DECEMBER - 2024 

Sun Mon Tue Wed Thu Fri Sat 

1 2 3 4 5 6 7 

8 9 10 11 12 13 14 

15 16 17 18 19 20 21 

22 23 24 25 26 27 28 

29 30 31     

𝐴𝐴2×2 = �1 2
8 9� �

2 3
9 10� �

3 4
10 11� , … , �23 24

30 31� 

𝐵𝐵3×2 = �
1 2
8 9

15 16
� �

2 3
10 11
17 18

� �
3 4

11 12
18 19

� , … , �
16 17
23 24
30 31

� 

𝐶𝐶2×3 = �1 2 3
8 9 10� �

2 3 4
9 10 11� , … , �22 23 24

29 30 31� 

𝐷𝐷3×3 = �
1 2 3
8 9 10

15 16 17
� �

2 3 4
9 10 11

16 17 18
� , … , �

15 16 17
22 23 24
29 30 31

� 

𝐸𝐸4×3 = �

1 2 3
8 9 10

15 16 17
22 23 24

� , … , �

8 9 10
15 16 17
22 23 24
29 30 31

�  

𝐹𝐹3×4 = �
1 2 3 4
8 9 10 11

15 16 17 18
� , … , �

14 15 16 17
21 22 23 24
28 29 30 31

�  

𝐺𝐺4×4 = �

1 2 3 4
8 9 10 11

15 16 17 18
22 23 24 25

� , … , �

7 8 9 10
14 15 16 17
21 22 23 24
28 29 30 31

�  

 

Similarly we make 𝟐𝟐 × 𝟒𝟒,𝟐𝟐 × 𝟓𝟓,𝟐𝟐 × 𝟔𝟔,𝟑𝟑 × 𝟓𝟓,𝟑𝟑 × 𝟔𝟔, 

𝟑𝟑 × 𝟕𝟕,𝟒𝟒 × 𝟐𝟐,𝟒𝟒 × 𝟔𝟔,𝟓𝟓 × 𝟐𝟐,𝟓𝟓 × 𝟑𝟑 matrices. 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


Y.SEENIVASAN. M.Sc, B.Ed (PG TEACHER MATHS) EM NEW - 2024-2025 
 

The Highest order of Matrix is  

𝐻𝐻4×6 = �

1 2 3 4 5 6
8 9 10 11 12 13

15 16 17 18 19 20
22 23 24 25 26 27

� 

5.  

Ans: Yes, No.of possible order is equal to the No.of 

Factors of elements number. 

Elements Possible orders No. of  Possible 
orders 

4 1 × 4,2 × 2,4 × 1 3 
9 1 × 9,3 × 3,9 × 1 3 

20 
1 × 20,2 × 10, 

4 × 5,5 × 4, 
10 × 2,20 × 1 

6 

8 1 × 8,2 × 4, 
4 × 2, 8 × 1 

4 

1 1 × 1 1 

100 

1 × 100, ,2 × 50, 
5 × 20,10 × 10, 
20 × 5,25 × 4, 

4 × 25,100 × 1, 
50 × 2 

9 

10 1 × 10,2 × 5, 
5 × 2,10 × 1 

4 

 

 

 

 

 

 

 

 

 

 

 

 

CHAPTER – 4 (GEOMETRY) 

1.  

Ans: 

Step -6: ∠𝑨𝑨𝑨𝑨𝑨𝑨 = ∠𝑷𝑷𝑷𝑷𝑷𝑷 = 𝟗𝟗𝟗𝟗° . Since ∠𝑪𝑪  is 

common. ∠𝑃𝑃𝑃𝑃𝑃𝑃 = ∠𝐵𝐵𝐵𝐵𝐵𝐵,∠𝐶𝐶𝐶𝐶𝐶𝐶 = ∠𝐶𝐶𝐶𝐶𝐶𝐶. 

By AA Similarity Triangles are similar ∆ 𝐴𝐴𝐴𝐴𝐴𝐴~∆𝑃𝑃𝑃𝑃𝑃𝑃 

Let 𝐶𝐶𝐶𝐶 = ℎ. 𝐴𝐴𝐴𝐴
𝑃𝑃𝑃𝑃

= 𝐶𝐶𝐶𝐶
𝐶𝐶𝐶𝐶
→ 2

ℎ
= ℎ

1
→ ℎ2 = 2 → 𝒉𝒉 = √𝟐𝟐. 

Step-8: 𝒉𝒉 = √𝑨𝑨𝑨𝑨 × 𝑪𝑪𝑪𝑪 . 

Yes we can construct a line segments of lengths 

√3,√5,√8 by taking a line segment of length  

3 + 1, 5 + 1, 8 + 1 units respectively. 

2.  

Ans: Yes, Equal . By BPT or Thales Theorem. The 

Parallel line divides the sides in the Same Ratio. 
𝐴𝐴𝐴𝐴
𝑃𝑃𝑃𝑃

= 2,
𝐴𝐴𝐴𝐴
𝑄𝑄𝑄𝑄

= 2 → 2: 2 = 𝟏𝟏:𝟏𝟏 

𝐴𝐴𝐴𝐴
𝑀𝑀𝑀𝑀

=
𝐴𝐴𝐴𝐴
𝑁𝑁𝑁𝑁

→
𝐴𝐴𝐴𝐴
𝑅𝑅𝑅𝑅

=
𝐴𝐴𝐴𝐴
𝑆𝑆𝑆𝑆

 

3.  
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Ans: 

𝐴𝐴𝐴𝐴 = 3.8,𝐴𝐴𝐴𝐴 = 3.8,𝐵𝐵𝐵𝐵 = 1.7,𝐷𝐷𝐷𝐷 = 1.7. 
𝐴𝐴𝐴𝐴
𝐴𝐴𝐴𝐴

=
𝐵𝐵𝐵𝐵
𝐷𝐷𝐷𝐷

→
3.8
3.8

=
1.7
1.7

= 1. 

Yes, Equal. By ABT . 

4.  

Ans: From (ii) 152 = 92 + 122. From (iii)  

202 = 122 + 162. From (iv) 𝟐𝟐𝟐𝟐𝟐𝟐 = 𝟐𝟐𝟐𝟐𝟐𝟐 + 𝟏𝟏𝟏𝟏𝟐𝟐. 

Sub in (iii) (𝟏𝟏𝟏𝟏 + 𝟗𝟗)𝟐𝟐 = 𝟏𝟏𝟐𝟐𝟐𝟐 + 𝟏𝟏𝟔𝟔𝟐𝟐 + 𝟗𝟗𝟐𝟐 + 𝟏𝟏𝟐𝟐𝟐𝟐. 

162 + 92 + 2 × 16 × 9 = 122 + 162 + 92 + 122. 

2 × 16 × 9 = 2 × 122.→ 𝟏𝟏𝟏𝟏𝟏𝟏 = 𝟏𝟏𝟏𝟏𝟏𝟏. 

𝐵𝐵𝐷𝐷2 = 𝐴𝐴𝐴𝐴 × 𝐷𝐷𝐷𝐷  

5.  

Ans: 

 Let Taking Two odd numbers. 5 and 7. Reciprocal are 
1
5

 𝑎𝑎𝑎𝑎𝑎𝑎 1
7
 . 1
5

+ 1
7

= 7+5
35

= 𝟏𝟏𝟏𝟏
𝟑𝟑𝟑𝟑
→ 𝒑𝒑 = 𝟏𝟏𝟏𝟏,𝒒𝒒 = 𝟑𝟑𝟑𝟑. 

𝒒𝒒 + 𝟐𝟐 = 𝟑𝟑𝟑𝟑. The relation is  

122 + 352 = 372. 

𝟏𝟏𝟏𝟏𝟏𝟏 + 𝟏𝟏𝟏𝟏𝟏𝟏𝟏𝟏 = 𝟏𝟏𝟏𝟏𝟏𝟏𝟏𝟏 

1369 = 1369.𝑷𝑷,𝒒𝒒,𝒒𝒒 + 𝟐𝟐 are Pythagorean triplet. 

CHAPTER – 5 (COORDINATE GEOMETRY) 

1.  

Ans: 

(iv) It is an A.P Sequence.(vii) It is an G.P Sequence. 

Third 

vertex 

Area of 

Triangle 

(Sq.Units) 

Third 

vertex 

Area of 

Triangle 

(Sq.Units) 
(1,1) 3 (1,2) 6 

(2,2) 6 (2,4) 12 

(3,3) 9 (3,8) 24 

(4,4) 12 (4,16) 48 

(5,5) 15 (5,32) 96 

2.  

Ans: 

Let take a Points A(1,1), B(8,1), C(5,7). 

Area of ∆𝐴𝐴𝐴𝐴𝐴𝐴  = 1
2
�
𝑥𝑥1 𝑥𝑥2 𝑥𝑥3 𝑥𝑥1
𝑦𝑦1 𝑦𝑦2 𝑦𝑦3 𝑦𝑦1� 

=
1
2
�1 8 5 1
1 1 7 1� 

=
1
2

{(1 + 56 + 5) − (8 + 5 + 7)} 

=
1
2

{62 − 20} =
1
2

{42} = 𝟐𝟐𝟐𝟐 𝒔𝒔𝒔𝒔.𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖.  

Let take a Points A(1,1), B(8,1), D(5,5). 

Area of ∆𝐴𝐴𝐴𝐴𝐴𝐴 = 1
2
�
𝑥𝑥1 𝑥𝑥2 𝑥𝑥3 𝑥𝑥1
𝑦𝑦1 𝑦𝑦2 𝑦𝑦3 𝑦𝑦1� 
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=
1
2
�1 8 5 1
1 1 5 1� 

=
1
2

{(1 + 40 + 5) − (8 + 5 + 5)} 

=
1
2

{46 − 18} =
1
2

{28} = 𝟏𝟏𝟏𝟏 𝒔𝒔𝒔𝒔.𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖.  

Area of Unshaded region = 21 − 12 = 𝟕𝟕 𝒔𝒔𝒔𝒔.𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖 

Aliter: 

By Using Quadrilateral Area Formula 

Let Take Shaded Region Points in Counter clockwise 

A(1,1), D(5,5), B(8,1), C(5,7). 

Area of ADBC= 1
2
�
𝑥𝑥1 𝑥𝑥2 𝑥𝑥3 𝑥𝑥4 𝑥𝑥1
𝑦𝑦1 𝑦𝑦2 𝑦𝑦3 𝑦𝑦4 𝑦𝑦1� 

=
1
2
�1 5 8 5 1
1 5 1 7 1� 

=
1
2

{(5 + 5 + 56 + 5) − (5 + 40 + 5 + 7)} 

=
1
2

{71 − 57} =
1
2

{14} = 𝟕𝟕 𝒔𝒔𝒔𝒔.𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖𝒖. 

3.  

 
Ans: 

(i) 𝑙𝑙2, 𝑙𝑙3  have positive slopes, because they make 

acute angles with X -axis.  

(ii) 𝑙𝑙1, 𝑙𝑙4  have negative slopes, because they make 

obtuse angles with X- axis. 

4.  

Ans: 

(i) Line 𝑙𝑙1 Equation: X - intercept = 1, Y intercept =3, 

Using two intercept form. 𝑥𝑥
𝑎𝑎

+ 𝑦𝑦
𝑏𝑏

= 1 → 𝑥𝑥
1

+ 𝑦𝑦
3

= 1. 

𝟑𝟑𝟑𝟑 + 𝒚𝒚 − 𝟑𝟑 = 𝟎𝟎 

(ii) Line 𝑙𝑙2 Equation: Since, 𝑙𝑙2 is perpendicular to 𝑙𝑙1. 

Slope 𝑙𝑙1 = −3,𝑎𝑎𝑎𝑎𝑎𝑎 𝑙𝑙2 = 1
3
. Passing point (1,−2) 

Using Slope point form 𝑦𝑦 − 𝑦𝑦1 = 𝑚𝑚(𝑥𝑥 − 𝑥𝑥1) 

𝑦𝑦 + 2 =
1
3

(𝑥𝑥 − 1) → 3𝑦𝑦 + 6 = 𝑥𝑥 − 1 

Equation of S.L  𝒙𝒙 − 𝟑𝟑𝟑𝟑 − 𝟕𝟕 = 𝟎𝟎 

(iii) Line 𝑙𝑙3 Equation: Slope 𝑙𝑙3 = 3 Passing (2,−3) 

Using Slope point Form 𝑦𝑦 − 𝑦𝑦1 = 𝑚𝑚(𝑥𝑥 − 𝑥𝑥1) 

𝑦𝑦 + 3 = 3(𝑥𝑥 − 2) → 𝟑𝟑𝟑𝟑 − 𝒚𝒚 − 𝟗𝟗 = 𝟎𝟎. 

5.  

Ans: 

(i) Slope of the Ladder is 8
6

= 𝒎𝒎 = 𝟒𝟒
𝟑𝟑
. 

Point - slope form (0,8) 𝑚𝑚 = 4
3

(𝑦𝑦 − 𝑦𝑦1) = 𝑚𝑚(𝑥𝑥 − 𝑥𝑥1) 

𝑦𝑦 − 8 =
4
3

(𝑥𝑥 − 0) → 3(𝑦𝑦 − 8) = 4𝑥𝑥 

𝟒𝟒𝟒𝟒 − 𝟑𝟑𝟑𝟑 − 𝟐𝟐𝟐𝟐 = 𝟎𝟎 

(ii) Two point are (2,4) and (5,1) 

Two point form 𝑦𝑦−𝑦𝑦1
𝑦𝑦2−𝑦𝑦1

= 𝑥𝑥−𝑥𝑥1
𝑥𝑥2−𝑥𝑥1

= 𝑦𝑦−4
1−4

= 𝑥𝑥−2
5−2

 

𝑦𝑦 − 4
−3

=
𝑥𝑥 − 2

3
→ 3𝑦𝑦 − 12 = −3𝑥𝑥 + 6 

𝟑𝟑𝟑𝟑 + 𝟑𝟑𝟑𝟑 − 𝟏𝟏𝟏𝟏 = 𝟎𝟎,𝒙𝒙 + 𝒚𝒚 − 𝟔𝟔 = 𝟎𝟎 

6.  
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Ans: 

(i) Point (0,4) , slope 𝑚𝑚 = 2
3
. Using Point slope form 

(𝑦𝑦 − 𝑦𝑦1) = 𝑚𝑚(𝑥𝑥 − 𝑥𝑥1) → (𝑦𝑦 − 4) =
2
3

(𝑥𝑥 − 0) 

3𝑦𝑦 − 12 = 2𝑥𝑥 → 𝟐𝟐𝟐𝟐 − 𝟑𝟑𝟑𝟑 + 𝟏𝟏𝟏𝟏 = 𝟎𝟎. 

(ii) Two points (0,−2), (4,−4). Two point form  
𝑦𝑦 − 𝑦𝑦1
𝑦𝑦2 − 𝑦𝑦1

=
𝑥𝑥 − 𝑥𝑥1
𝑥𝑥2 − 𝑥𝑥1

=
𝑦𝑦 + 2
−4 + 2

=
𝑥𝑥 − 0
4 − 0

 

𝑦𝑦+2
−2

= 𝑥𝑥
4
→ 4𝑦𝑦 + 8 = −2𝑥𝑥,𝟐𝟐𝟐𝟐 + 𝟒𝟒𝟒𝟒 + 𝟖𝟖 = 𝟎𝟎.  

(iii) Point (4,3) , slope 𝑚𝑚 = 2
3
. Using Point slope form 

(𝑦𝑦 − 𝑦𝑦1) = 𝑚𝑚(𝑥𝑥 − 𝑥𝑥1) → (𝑦𝑦 − 3) =
2
3

(𝑥𝑥 − 4) 

3𝑦𝑦 − 9 = 2𝑥𝑥 − 8 → 𝟐𝟐𝟐𝟐 − 𝟑𝟑𝟑𝟑 + 𝟏𝟏 = 𝟎𝟎 

(iv) Points (4,0), (0,−4). Two point form 
𝑦𝑦 − 𝑦𝑦1
𝑦𝑦2 − 𝑦𝑦1

=
𝑥𝑥 − 𝑥𝑥1
𝑥𝑥2 − 𝑥𝑥1

=
𝑦𝑦 − 0
−4 − 0

=
𝑥𝑥 − 4
0 − 4

 

𝑦𝑦
−4

=
𝑥𝑥 − 4
−4

→ −4𝑦𝑦 = −4𝑥𝑥 + 16 

𝟒𝟒𝟒𝟒 − 𝟒𝟒𝟒𝟒 − 𝟏𝟏𝟏𝟏 = 𝟎𝟎 

CHAPTER – 6 (TRIGONOMETRY) 

1.  

Ans: 

 

 

 

 

 

 

 

 

 

 

 

 

 

We conclude that  

sin 30° = cos 60° , sin 60° = cos 30° 

sin 45° = cos 45°, tan 30° =
1

tan 60°
= cot 60°  

2.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝐴𝐴𝐴𝐴
𝑂𝑂𝑂𝑂 =

5
10 =

1
2 = sin 30° 

𝑂𝑂𝑂𝑂
𝑂𝑂𝑂𝑂

=
8.7
10

= 0.87 = cos 30° 

𝐴𝐴𝐴𝐴
𝑂𝑂𝑂𝑂 =

5
8.7 = 0.57 = tan 30° 

 
𝐴𝐴𝐴𝐴
𝑂𝑂𝑂𝑂 =

7.1
10 = 0.71 = sin 45° 

𝑂𝑂𝑂𝑂
𝑂𝑂𝑂𝑂 =

7.1
10 = 0.71 = cos 45° 

𝐴𝐴𝐴𝐴
𝑂𝑂𝑂𝑂 =

7.1
7.1 = 1 = tan 45° 

 

𝐴𝐴𝐴𝐴
𝑂𝑂𝑂𝑂 =

8.7
10 = 0.87 = sin 60° 

𝑂𝑂𝑂𝑂
𝑂𝑂𝑂𝑂

=
5

10 =
1
2 = cos 60° 

𝐴𝐴𝐴𝐴
𝑂𝑂𝑂𝑂 =

8.7
5 = 1.74 = tan 60° 

 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


Y.SEENIVASAN. M.Sc, B.Ed (PG TEACHER MATHS) EM NEW - 2024-2025 

 

CHAPTER – 7 (MENSURATION) 

1.  

Ans: 
(i) The C.S.A of cone = The Area of the Semi-Circular Paper.  

=
1
2

(𝜋𝜋𝑟𝑟2) =
1
2

×
22
7

× 7 × 7 

= 77 𝑐𝑐𝑚𝑚2. 
(ii) The C.S.A of the cone = The Area of the Quadrant Paper 

=
1
4

(𝜋𝜋𝑟𝑟2) =
1
4

×
22
7

× 3.5 × 3.5 

= 9.625 𝑐𝑐𝑚𝑚2. 

2.  

Ans: 

Given, Sphere Radius =  𝑟𝑟. 

Cylinder radius = 𝑟𝑟, it’s height = 2𝑟𝑟. 

The length of the threads are equal. 

The S.A of the sphere = The CSA of the cylinder. 

= 2𝜋𝜋𝜋𝜋ℎ = 2𝜋𝜋𝜋𝜋(2𝑟𝑟) 

= 4𝜋𝜋𝑟𝑟2. 

3.  

 

 

 

 

 

 

 

 

 

Ans: 

Northern Hemisphere Countries: India, Japan. 

Southern Hemisphere Countries: Australia,  

New Zealand. 

4.  

Ans: 

(i) Solid Cylinder and Circular Cone. 

TSA= 2𝜋𝜋𝜋𝜋ℎ + 𝜋𝜋𝑟𝑟2 + 𝜋𝜋𝜋𝜋𝜋𝜋 = 𝜋𝜋𝜋𝜋(2ℎ + 𝑟𝑟 + 𝑙𝑙). 

(ii) Solid cylinder, Hemisphere, Circular cone 

    TSA = 2𝜋𝜋𝜋𝜋ℎ + 2𝜋𝜋𝑟𝑟2 + 𝜋𝜋𝜋𝜋𝜋𝜋 = 𝜋𝜋𝜋𝜋(2ℎ + 2𝑟𝑟 + 𝑙𝑙) 

(iii) Solid cylinder and Circular cone 

    TSA = 2𝜋𝜋𝜋𝜋ℎ + 𝜋𝜋𝑟𝑟2 + 𝜋𝜋𝜋𝜋𝜋𝜋 = 𝜋𝜋𝜋𝜋(2ℎ + 𝑟𝑟 + 𝑙𝑙) 

(iv) Cube and Solid cylinder and  

    TSA = 6𝑎𝑎2 + 2𝜋𝜋𝜋𝜋ℎ − 2𝜋𝜋𝑟𝑟2 = 6𝑎𝑎2 + 2𝜋𝜋𝜋𝜋(ℎ − 𝑟𝑟) 

5.  

Ans: 

(i) Height of the cylinder = 4 × 3 = 12 𝑐𝑐𝑐𝑐. 

(ii) Radius of the cylinder = 3 𝑐𝑐𝑐𝑐. 
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(iii) Volume of the cylinder. 𝜋𝜋𝑟𝑟2ℎ = 𝜋𝜋 × 32 × 12 

 = 108𝜋𝜋 𝑐𝑐𝑚𝑚3 

(iv) Volume of two balls. 2 × 4
3

× 𝜋𝜋𝑟𝑟3 = 2 × 4
3

× 𝜋𝜋33 

                                                          = 72𝜋𝜋 𝑐𝑐𝑚𝑚3 

(v) Volume of the cylinder occupied by the balls 

 = 36𝜋𝜋 𝑐𝑐𝑚𝑚3. 

(vi) Percentage of the volume by the balls = 66.67% 

% of Volume = Volume of 2 balls
Volume of cylinder

× 100 = 72𝜋𝜋
108𝜋𝜋

× 100 

                                                                = 𝟔𝟔𝟔𝟔.𝟔𝟔𝟔𝟔% 

CHAPTER – 8 (STATISTICS AND PROBABILITY) 

1.  

Ans: 

Test Tamil English Maths Science S.S 

Mid 

Term 
80 81 100 92 97 

Quart 92 88 90 90 90 

Mid Term : Mean  

𝑥̅𝑥 =
80 + 81 + 100 + 92 + 97

5
=

450
5

= 90 

𝑥𝑥𝑖𝑖 
𝑑𝑑𝑖𝑖 = 𝑥𝑥𝑖𝑖 − 𝑥̅𝑥 

     = 𝑥𝑥𝑖𝑖 − 90 
𝑑𝑑𝑖𝑖2 

80 −10 100 

 81 −9 81 

100 10 100 

92 2 4 

97 7 49 

 �𝑑𝑑𝑖𝑖2 334 

 

 

 

 

 

 

 

 

Quarterly Exam : Mean 

𝑥̅𝑥 =
92 + 88 + 90 + 90 + 90

5
=

450
5

= 90 

𝑥𝑥𝑖𝑖 
𝑑𝑑𝑖𝑖 = 𝑥𝑥𝑖𝑖 − 𝑥̅𝑥 

     = 𝑥𝑥𝑖𝑖 − 90 
𝑑𝑑𝑖𝑖2 

92 −2 4 

 88 −2 4 

90 0 0 

90 0  

90 0 0 

 �𝑑𝑑𝑖𝑖2 4 

 

We observe that total and Mean are both same, there are 

much difference in standard deviation. Because the 

mark obtained in the mid term are scatted towards the 

central value of the Quarterly exam. 

2.  

Ans: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝑺𝑺.𝑫𝑫  

𝜎𝜎 = �∑𝑑𝑑𝑖𝑖
2

𝑛𝑛
 

= �334
5

 

= √66.8
= 𝟖𝟖.𝟏𝟏𝟏𝟏 

𝑺𝑺.𝑫𝑫  

𝜎𝜎 = �∑𝑑𝑑𝑖𝑖
2

𝑛𝑛
 

= �4
5

 

= √0.8 
= 𝟎𝟎.𝟖𝟖𝟖𝟖 

Home 

𝑅𝑅1 

𝑅𝑅2 

𝑅𝑅3 

𝑃𝑃1 

𝑃𝑃2 𝑃𝑃3 𝑃𝑃4 
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No. of Ways to Reach the office: 

= 3(𝑅𝑅1,𝑅𝑅2,𝑅𝑅3) × 4(𝑃𝑃1,𝑃𝑃2,𝑃𝑃3,𝑃𝑃4) × 

= 3(𝐵𝐵1,𝐵𝐵2,𝐵𝐵3) × 2(𝐸𝐸1,𝐸𝐸2) 

= 72 ways. 

Activity : 4  

Let 10th Boys = 16. Girls =8 . Total = 24. 

Total strength =800.Sample space for 10 Std =24. 

(i) Probability of selecting a boy from 10 Std  

=
16
24

= 0.666 

(ii) Probability of selecting a Girl from 10 Std  

=
8

24
= 0.333 

(iii) Probability of selecting a Student from 10 Std 

=
24

800
= 0.03 

(iv) Probability of selecting a boy from 10 Std in school 

=
16

800
= 0.02 

(v) Probability of selecting a Girl from 10 Std in school 

=
8

800
= 0.01 

Activity : 5  

Ans:  

Let  

𝑆𝑆1 → Sum of Probability of events taken one at a time. 

𝑆𝑆2 → Sum of Probability of events taken two at a time. 

𝑆𝑆3 →  Sum of Probability of events taken three at a 

time. 

𝑆𝑆4 → Sum of Probability of events taken four at a time. 

𝑆𝑆5 → Sum of Probability of events taken five at a time. 

And so on….. 

 

Let numbers from 1 to 21.  𝑛𝑛(𝑆𝑆) = 21. 

(𝐴𝐴 ∪ 𝐵𝐵 ∪ 𝐶𝐶 ∪ 𝐷𝐷) = {1,2,3 … ,21}, 

 𝑛𝑛(𝐴𝐴 ∪ 𝐵𝐵 ∪ 𝐶𝐶 ∪ 𝐷𝐷) = 21 

𝑃𝑃(𝐴𝐴 ∪ 𝐵𝐵 ∪ 𝐶𝐶 ∪ 𝐷𝐷) =
𝑛𝑛(𝐴𝐴 ∪ 𝐵𝐵 ∪ 𝐶𝐶 ∪ 𝐷𝐷)

𝑛𝑛(𝑆𝑆)
=

21
21

= 1 

From venn diagram. 

Taking One at a time.  

𝐴𝐴 = {1,2,3,5,6,7,8,9,14,15},𝑛𝑛(𝐴𝐴) = 10,𝑃𝑃(𝐴𝐴) =
10
21

 

𝐵𝐵 = {1,2,3,4,8,9,10,11,16,17},𝑛𝑛(𝐵𝐵) = 10,𝑃𝑃(𝐵𝐵) =
10
21

 

𝐶𝐶 = {1,3,4,5,10,11,12,13,18,19},𝑛𝑛(𝐶𝐶) = 10,𝑃𝑃(𝐶𝐶) =
10
21

 

𝐷𝐷 = {1,2,4,5,6,7,12,13,20,21},𝑛𝑛(𝐷𝐷) = 10,𝑃𝑃(𝐷𝐷) =
10
21

 

∴ 𝑷𝑷(𝑨𝑨) + 𝑷𝑷(𝑩𝑩) + 𝑷𝑷(𝑪𝑪) + 𝑷𝑷(𝑫𝑫) = 𝑺𝑺𝟏𝟏 =
𝟒𝟒𝟒𝟒
𝟐𝟐𝟐𝟐

 

Taking Two at a time.  

(𝐴𝐴 ∩ 𝐵𝐵) = {1,2,3,8,9};𝑛𝑛(𝐴𝐴 ∩ 𝐵𝐵) = 5;𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵) =
5

21
 

(𝐵𝐵 ∩ 𝐶𝐶) = {1,3,4,10,11};𝑛𝑛(𝐵𝐵 ∩ 𝐶𝐶) = 5;𝑃𝑃(𝐵𝐵 ∩ 𝐶𝐶) =
5

21
 

(𝐶𝐶 ∩ 𝐷𝐷) = {1,4,5,12,13};𝑛𝑛(𝐶𝐶 ∩ 𝐷𝐷) = 5;𝑃𝑃(𝐶𝐶 ∩ 𝐷𝐷) =
5

21
 

(𝐷𝐷 ∩ 𝐴𝐴) = {1,2,5,6,7};𝑛𝑛(𝐷𝐷 ∩ 𝐴𝐴) = 5;𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵) =
5

21
 

(𝐴𝐴 ∩ 𝐶𝐶) = {1,3,5};𝑛𝑛(𝐴𝐴 ∩ 𝐶𝐶) = 3;𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵) =
3

21
 

(𝐵𝐵 ∩ 𝐷𝐷) = {1,2,4};𝑛𝑛(𝐴𝐴 ∩ 𝐶𝐶) = 3;𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵) =
3

21
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𝑷𝑷(𝑨𝑨 ∩ 𝑩𝑩) + 𝑷𝑷(𝑩𝑩 ∩ 𝑪𝑪) + 𝑷𝑷(𝑪𝑪 ∩ 𝑫𝑫) + 𝑷𝑷(𝑫𝑫 ∩ 𝑨𝑨)

+ 𝑷𝑷(𝑨𝑨 ∩ 𝑪𝑪) + 𝑷𝑷(𝑩𝑩 ∩𝑫𝑫) = 𝑺𝑺𝟐𝟐 =
𝟐𝟐𝟐𝟐
𝟐𝟐𝟐𝟐

 

 

Taking Three at a time.  
(𝐴𝐴 ∩ 𝐵𝐵 ∩ 𝐶𝐶) = {1,3};   𝑛𝑛(𝐴𝐴 ∩ 𝐵𝐵 ∩ 𝐶𝐶) = 2;  

 𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵 ∩ 𝐶𝐶) =
2

21
 

(𝐵𝐵 ∩ 𝐶𝐶 ∩ 𝐷𝐷) = {1,4};   𝑛𝑛(𝐵𝐵 ∩ 𝐶𝐶 ∩ 𝐷𝐷) = 2;  

 𝑃𝑃(𝐵𝐵 ∩ 𝐶𝐶 ∩ 𝐷𝐷) =
2

21
 

(𝐶𝐶 ∩ 𝐷𝐷 ∩ 𝐴𝐴) = {1,5};   𝑛𝑛(𝐶𝐶 ∩ 𝐷𝐷 ∩ 𝐴𝐴) = 2;  

 𝑃𝑃(𝐶𝐶 ∩ 𝐷𝐷 ∩ 𝐴𝐴) =
2

21
 

(𝐷𝐷 ∩ 𝐴𝐴 ∩ 𝐵𝐵) = {1,2};   𝑛𝑛(𝐷𝐷 ∩ 𝐴𝐴 ∩ 𝐵𝐵) = 2;  

 𝑃𝑃(𝐷𝐷 ∩ 𝐴𝐴 ∩ 𝐵𝐵) =
2

21
 

𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵 ∩ 𝐶𝐶) +  𝑃𝑃(𝐵𝐵 ∩ 𝐶𝐶 ∩ 𝐷𝐷) +  𝑃𝑃(𝐶𝐶 ∩ 𝐷𝐷 ∩ 𝐴𝐴) + 

 𝑃𝑃(𝐷𝐷 ∩ 𝐴𝐴 ∩ 𝐵𝐵) = 𝑆𝑆3 = 8
21

. 

Taking Four at a time.  

(𝐴𝐴 ∩ 𝐵𝐵 ∩ 𝐶𝐶 ∩ 𝐷𝐷) = {1};𝑛𝑛(𝐴𝐴 ∩ 𝐵𝐵 ∩ 𝐶𝐶 ∩ 𝐷𝐷) = 1;  

𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵 ∩ 𝐶𝐶 ∩ 𝐷𝐷) = 𝑆𝑆4 =
1

21
. 

𝑃𝑃(𝐴𝐴 ∪ 𝐵𝐵 ∪ 𝐶𝐶 ∪ 𝐷𝐷) = 𝑃𝑃(𝐴𝐴) + 𝑃𝑃(𝐵𝐵) + 𝑃𝑃(𝐶𝐶) +

𝑃𝑃(𝐷𝐷) − 𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵) + 𝑃𝑃(𝐵𝐵 ∩ 𝐶𝐶) + 𝑃𝑃(𝐶𝐶 ∩ 𝐷𝐷) + 𝑃𝑃(𝐷𝐷 ∩

𝐴𝐴) + 𝑃𝑃(𝐴𝐴 ∩ 𝐶𝐶) + 𝑃𝑃(𝐵𝐵 ∩ 𝐷𝐷) +  𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵 ∩ 𝐶𝐶) +

 𝑃𝑃(𝐵𝐵 ∩ 𝐶𝐶 ∩ 𝐷𝐷) +  𝑃𝑃(𝐶𝐶 ∩ 𝐷𝐷 ∩ 𝐴𝐴) +  𝑃𝑃(𝐷𝐷 ∩ 𝐴𝐴 ∩ 𝐵𝐵) −

𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵 ∩ 𝐶𝐶 ∩ 𝐷𝐷). 

𝑃𝑃(𝐴𝐴 ∪ 𝐵𝐵 ∪ 𝐶𝐶 ∪ 𝐷𝐷) = 40
21
− 26

21
+ 8

21
− 1

21
= 21

21
= 1. 

𝑃𝑃(𝐴𝐴 ∪ 𝐵𝐵 ∪ 𝐶𝐶 ∪ 𝐷𝐷) = 𝑆𝑆1 − 𝑆𝑆2 + 𝑆𝑆3 − 𝑆𝑆4 

The Probability pattern follow as. 

𝑃𝑃(𝐴𝐴 ∪ 𝐵𝐵) = 𝑆𝑆1 − 𝑆𝑆2 
𝑃𝑃(𝐴𝐴 ∪ 𝐵𝐵 ∪ 𝐶𝐶) = 𝑆𝑆1 − 𝑆𝑆2 + 𝑆𝑆3  

𝑃𝑃(𝐴𝐴 ∪ 𝐵𝐵 ∪ 𝐶𝐶 ∪ 𝐷𝐷) = 𝑆𝑆1 − 𝑆𝑆2 + 𝑆𝑆3 − 𝑆𝑆4 

𝑃𝑃(𝐴𝐴 ∪ 𝐵𝐵 ∪ 𝐶𝐶 ∪ 𝐷𝐷 ∪ 𝐸𝐸) = 𝑆𝑆1 − 𝑆𝑆2 + 𝑆𝑆3 − 𝑆𝑆4 + 𝑆𝑆5  

And so on like this  

The probability pattern for the number of terms = Sum 

of odd terms − sum of even terms. 

**** 
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